(R4) thTKERAEHR

15 = HOE RIEHRESE & &
ey R L-ha e Li-thash] BIEHAEE mg/ |

I ZN 6 6 0 0.01L4F
LTV 6 6 0 BREINGEWNI &
£ 6 6 0 0.01LLF
iR A= PN 6 6 0 0.05LLF
it 6 6 0 0.01LLF
K ER 6 6 0 0.0005LLF
T7ILFILIKER — - — BEIhGZWNI &
PCB 6 6 0 mREINGEWNI &
kysooTFLy 1 Ji 0 0.01LLF
ThcZ2O00ITFLY Ji 6 1 0.01LLF
Mg iR & 6 6 0 0.002LLF
“/7EIEI)"5¢‘/ 6 6 0 0.02LLF
1,2-3 7EIEII’)7/ 6 6 0 0.004LLF
,1,1-kyoynoxTa2 > 6 6 0 1T
1,1,2-k)o00x2 > 6 6 0 0.006LLF
1,1-oo0pxITFLY Ji Ji 0 0.02LLF
1,2—*‘)7|:||:|I7-l/> Ji Ji 0 0.04LLF
1,3-HnooJaRy 6 6 0 0.002LLF
FOIL 6 6 0 0.006LLF
IV 6 6 0 0.003LLF
FARAILTD 6 6 0 0.02LLF
Rty 6 6 0 0.01LLF
LY 6 6 0 0.01LLF
5% 6 6 0 1T
SoF 6 6 0 0.8LLF
HEHBEEERRUVEEBEER 6 4 2 10LLF
IBILEZIILE/ T — 6 6 0 0.002LLF
1,4-oxFH > 6 6 0 0.05LLF




